Ma 3 Book Notes
LM SooN WEI DANIEL

. DeMorgan’s Laws (AN B)¢ = A°U B¢, (AU B)¢ = A°N B°.
. Probability function axioms:

(a) Axiom 1: P(A) >0

(b) Axiom 2: P(S) =1, S =sample space.

(¢) Axiom 3: For two mutually exclusive events A and B, P(AU B) = P(A) + P(B).
)

(d) Axiom 4: When S has an infinite number of members, let A;, Az, ... be events defined over S. If A; N A; =0 for
each i # j, then P (U2, 4;) = Y72, P(4;).

. Generalized inclusion-exclusion principle:

P(AUB)=P(A)+ P(B)—P(ANB)
P(AuBUC)=P(A)+ P(B)+ P(C)—P(ANnB)—P(BNC)—P(ANC)+P(ANBNCQC)

Generally,

P (U Ay) =) (1) > P(A;, N...NA;)

k=1 1<ig < <ig<n

. Higher-order intersections
P(AinAsn---NA,) =PAJAiNAsN---NA,_1) - P(A,_1]A1 N NA,_2)--- P(As|A1) - P(Aq)
Prove by repeated use of P(AN B) = P(A|B)P(B).

. Derangement: The probability of a random shuffle of n elements producing a result where no element is in the correct
position is given by:

1n! "L (=1)P

p!
which is the nth order truncation of the Taylor expansion of e~!

. Conditional Probability: P(A|B) = 2408,

. Rule of average conditional probabilities For a partition Bj,..., B, of sample space (2, we have:
P(A) = P(A|B1)P(B1) + ... P(A|B,)P(By)
P(A) is the weighted average of the conditional probabilities with weights P(B;).

. Bayes’ Rule For a partition By,..., B, of all possible outcomes, we have:

_ P(A|B;)P(B;:)
L Vi

_ P(A|B;)P(B;) o
PBIA) = 5B PGB + ..+ PABIPEY) ~ 2

. Multiplication rule for multiple events

P(AiNAyN---NA,) =P(A1)P(A2]A1)P(A3|A1NAg) - P(Ap A1 NAaN---NAu_1)

. Binomial Distribution

e Mean pu =np
[(n+1)p|, (n+lp=0or (n+1)pgZ
e Mode=<¢ (n+1)pand (n+1)p—1, (n+1)peZ
n, p=1

e PDF: f(k;n,p) = P(X =k, X ~ Binom(n,p)) = (Z)pk(l —p)nk,
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e Normal Approximation: given /npq large, u = np,oc = /npq.

. Normal Distribution

e PDF: ;ﬁe—%@—ﬁ/az.

o

e Converting to standard normal Z = *=£.

g o

1, _1_
e With Continuity correction: P(a < X < b, X ~ Binom(n,p)) = N (”‘*‘57%) _N <a 3 “).
e Relation to error function: N(z) = % + %erf (%)

Skewness of the Binomial function Skewness(n,p) = (1—2p)/o = (1—2p)//npq. Skewness is positive for p < 1/2
and called skewed to the right. It is negative for p > 1/2 and called skewed to the left.

Skew-normal approximation: For n independent trials with success probability p, P(0 to b successes) ~ ®(z) —

+Skewness(n, p)(z? — 1)¢(z) where z = H%%“, ® is the standard normal CDF and ¢(z) is the standard normal curve.

Poisson Approximation to Binomial Condition: n large and p small. P(k successes) = 67“’,‘7};.

Approximate 95% confidence interval, sampling with replacement p + ﬁ

Sampling: Consider a population of size N with G good and B bad elements, with N = G + B. For a sample of size
n=g+b,0 < g <n, the probability of getting g good elements and b bad elements is:
n\ GIB®
g) Nnot

o (D(2)
e For sampling without replacement: P(g good and b bad) = Q(T)

n

e For sampling with replacement: P(g good and b bad):(

Hypergeometric Distribution: Number of “good” elements from a sample of size n without replacement from a
population of N elements, G of which are “good”. Three parameters: n, N,G. Gives the probability P(g good, n-g
bad) for g =0,1,2,...,n.

. Random Walk Stuff

e Ballot theorem (ties allowed) - alternatively, non-negative random walk. So the walker can return to zero, but

cannot go under. Then the probability that this occurs is B ;ﬁq where p is the number of positive steps, and ¢ is

the number of negative steps. Alternatively, write k = p—q,t = p+¢ so that p = #, q= % and the probability

is (t+k)/24+1—(t—k)/2 _ t4+k+2—t4+k _ 2k—2 P—q _ k
(t+k)/2+1 t+k+2 t+k+2° pq t-

e Deriving the tie case from the no tie case. Note the number of non-tie sequences with p + 1 positive movements
is equal to the number of tie sequences with p positive movements. See this by noting that the first step has to
be (0,0) — (1,1). Then use (1,1) as the origin for the tie sequences. Appending the first movement to all these
tie sequences, we obtain the non-tie sequences with p + 1 positive movements. Number of non-tie sequences with

p+ 1 is then ziﬁg (p+;+q) = p';% (pjl'q). Hence the probability of a tie sequence with p positive movements is
ptl—g

p+1 -

Compare this to the no-tie version probability:

Progress: Larsen (5th ed), stopped at page 38. Pitman Page 98



Chapter 1

Border notes

2.2.2 Definition: Odds The odds against an event is F;,((E:Ec)).

2.3.1 Definition: Probability space A probability space is a triple (S, &, P) where S is a nonempty sample space, £
is the set of events, P is a countably additive probability measure on &.

2.4.1 Definition: Random Variable A random variable on a probability space (S, E, P) is a real-valued function on S
such that for every interval I C R, the inverse image of I is an event.

2.5.1 Boole’s Inequality P((U%;A4;) <> | P(4A;).

2.7.1 Independence of complements If A and B are independent, A and B¢, A° and B¢, A and B are all independent.

2.8.2 Inclusion-exclusion principle P (U, A;) = 37, p(Ai) =2, - p(AiAj) 47, oo P(AiAjAg)—. . A(=1)" T P(A1 Ay - --

2.10.5 Binomial identity (ij)

(52) + (1) ZiZo (=17 = (D).
3.2.2 Binomial Theorem (a +b)" = >} _ (})a*b"~*.
4.2.2 Stirling’s Formula n! ~ e "n*v/2mn(1 + ¢,).

4.3 Multinomial distribution Let there be m possible outcomes, ith outcome has probability p;, and we take n
independent trials, k; of which result in outcome 4, then:

|
P(k; outcomes of type i,i =1,...,m) = kl!kglrf — km!plflpgz plim
4.5.1 Bayes’ Rule P(B|A) = P(A|B)%. Let By,... B, be a partition of S. Then:
P(A|B;)P(B;

Y, P(A|Bj)P(B;))

5.4.1 Definition: Distribution of random variable The distribution of the random variable X : S — R on the prob-
ability space (S, &, P) is the probability measure Px defined on R by Px(B) = P(X € B). The probability mass function is
px (x) = P(X = z) for the discrete random variable. The cumulative distribution function is Fy (t) = P(X < t) = Px(—o00,t].

5.9 Definition: Stochastic dominance X stochastically dominates Y if for all ¢ € R, P(X > t) > P(Y > t) and for
some t this is a strict inequality. Write this also as Fix () < Fy (t).

5.10.1 Defintion: Expectation EX =) _¢ X(s)P(s) = [ ap(z)dz.

5.11 Expectation of a composition Let X be a discrete RV on (S,,P) and g : R — R. Then Ego X =
ZSGSQ (X(S)) P(S) = erl‘angc Xg(‘r)p(x)'

6.2 Definition: Stochastic Independence A set of random variables is stochastically independent if for every finite
subset of random variables {X7,..., X, } and every collection of subsets of R {By,...,B,} we have P(X; € By,..., X, €

Ap)



Byn) = P(X, € By)--- P(X, € By).

0,t<a

6.5 Uniform Distribution CDF: F(t) =
1,t > b va<t<b

6.9.2 Definition: Convex Function f is convex on (a,b) iff f"(x) > 0,Vz € (a,b).

6.9.3 Jensen’s Inequality Let X be a random variable with finite expectation and let f : R — R be a convex function.
Then E(f(X)) > f(EX). If X is non degenerate and f is strictly convex, the inequality is strict.

6.11.1 Holder’s inequality If 1 < p < ¢, if E|XY| is finite, then E|XP| is also finite.

7.11.1 Multinomial identity

I4+z1)A+z2) - 1+z,) = Z Z

k=011 <---<ip
(1—z)(1—29)--- (1 —m,) = Z S D,
k=011<---<ip
7.1.3 Indicator function algebra lap = 14-1p = min(la,15). 1lae = 1—14. 1laup = max(la,1p) =1a+1p—14-15.

1 Emw?

7.5 Definition: Standard Normal Distribution f(z) = v r

7.5.1 Gaussian integral ffooo e~ 2dy = /21

7.8 Normal Approximation to Binomial (deMoivre-Laplace Limit theorem Let X ~ B(n,p), then EX =
np, Var(X) =np(l —p) so Va,b € R:

X — 1 [
lim P aginpgb :—/ e_zz/zdz
n—00 np(1 — p) 21 Ja

8.2.1 Markov’s inequality Let X be a non-negative RV with mean p < co. For every a > 0, P(X > a) <

el

8.2.2 Chebychev’s inequality Let X be a random variable with finite mean p and variance o2.

P(X —p > a) < 2

For every a > O:
9.2 Joint Distributions The Joint Distribution of Xi,..., X, is Px(B) = P(X € B) for B € R". The Joint CDF is
Fx(t1,...,tn) = P(X; <t;,i =1,2,...,n). The Joint PMF is px(z1,...,2,) = P(X1 = x1,..., X, = ).
9.3 Expectation of Function on Joint Distribution Eg(X,Y) =3 > g9(z,y)px,v(z,y).
9.5 Marginal Distribution px = P(X =z) =} pxy(z,9) = [ fxy(z,y)dy.

9.7 Distribution of a Sum Let Z =X +Y. Then P(Z =2) =) pxy(z,2—2) = [*_fxy(t—y,y)dy. If X and Y
are independent, fx.y(t) = ffooo Ix(@—v)fy(y)dy

9.8 Covariance Var(X +Y) =Var(X)+ Var(Y) +2Cov(X,Y) = Var(X)+ Var(Y) + 2E(X — EX)(Y — EY). Also,
Cov(X,Y)=E(XY)—- EX)E(Y).

9.10.1 Variance of a linear combination Let Z = a1 X1 + ... + a,X,. Then let X = (Xy,...,X,),a= (a1,...,ay)
so Z = a- X. Define the covariance matrix ¥ = [Cov(X;, X;)]?;—,. Then Var(Z) = a¥a” = 371, 37" | Cov(X;, X;)aia;.
Alternatively, ¥ = E[(X — p)(X — p)T] so that 0, ; = % ; = E[(X; — EX;)(X,; — EX;))].

9.11.2 Cauchy-Schwartz Inequality E(XY)? < E(X?)E(Y?) with equality only if X and Y are linearly independent.
Implies [Cov(X,Y)|? < Var(X)Var(Y).

9.13.1 Sum of independent normals is normal If X ~ N(p,02),Y ~ N(\,72) then X +Y ~ N(u+ \,0% + 72).



10.1.1 Quantile function For any p € (0,1) and z € R. Q(p) <z < p < F(x)

10.2 Stochastic dominance on expectation Let X stochastically dominate Y and let g be nondecreasing. Then
Eg(X) > Eg(Y) with equality when Fx = Fy.

10.4.1 Central Limit Theorem v1 Let X, X5... be a sequence of iid random variables. Let p = FEX; and

0? =Var(X;). Let S, =Y, X;. Then: S%Z” — N(0,1) converges in distribution.

11.2 Definition: Gamma Function I'(s) = [ t*"'e~'dt. I'(m) = (m — 1)\, m € Z*.
11.3 Defintion: Gamma Distribution For a Gamma(r, ) distribution, f(t) = %tr’le’”,t > 0.

11.4 Random Lifetime Let T be chosen with CDF F'(¢). The survival function is G(t) = P(T > t) =1 — F(t) =

[:° f(s)ds. The hazard rate is A(t) = limj_0 w %7 the instantaneous probability of failure.

11.5 Definition: Exponential distribution Exponential()\) has density f(¢) = A\e™*!, hazard rate A constant, mean
1

1 and variance 35. Exponential is memoryless: P(T >t + s|T > t) = P(T > s).

11.8 Sum of independent exponentials The sum of n iiid Exponential(A\) RV has a Gamma(n,A) distribution.
tn—l

f(t) = AneiAtm.

11.10 Definition: Poisson Distribution If X ~ Poisson(\), then the PMF is P(X = k) = e*A’\k—T. Mean and variance
is A

11.12 Poisson Approximation to Binomial Poisson(\) = B(n, A/n) when n is large and p is small.
11.15 Sum of Poissons is also Poisson X ~ Poisson(u),Y ~ Poisson(\) = X +Y ~ Poisson(u+ ).
12.1 Defintion: Order Statistics 1st order statistic is the minimum. nth order statistic is the maximum.

12.2 CDF of order statistics The CDF of the kthA order statistic from a sample of n of iid RVs with individual CDF
F(x)is Frn(z) = P(X) <) = Z;‘L:k (;)(1 — F(z))" 7 F(x)’.

12.3 PDF of order statistics fi,(z) =n(}"})(1 — F(z))" " F(2)" 1 f(=).

12.5.1 Definition: Beta Function B(r,s) = fol =11 — ¢)s 1t = W)

T(r+s) *
12.5.2 Definition: Beta Distribution The Beta(r, s) distribution has density f(x) = B(}n s)xT*1(1 — )tz € [0,1]
and zero elsewhere. Mean is —+—. The (k,n) order statistic of a Uniform[0,1] distribution has a beta(k,n-k+1) distribution

. k
with mean o
12.6 Conditioning on Random Variable Let X and Y be discrete RV with joint PMF p(z,y). Then P(Y = y|X =

_ P¥=y,X=s) _ p(z,y)
D= TERE T e

12.7 Conditional Expectation E(Y|X =z) =}, yif(zg
12.9 Conditional Expectation is linear E(aY + bZ|X) = aE(Y|X) + bE(Z|X). If iterated, E(E(Y|X)) = EY
(Statement 12.10).

13.1 Definition: Markov Chain A discrete time stochastic process where the conditional distribution of X, , given
Xi,,..., X is the same as that given just X; alone. A Markov chain is time-invariant if the distribution of X;4|X; does
not depend on t.

13.2 Definition: Transition Matrix A time-invariant Markov chain can be represented by a transition matrix
P =[p(i,j)] = [P(X+1 = 7| Xt = 1)]. Each row probabilities must sum to one.

13.2 Definition: Reachable and Communicate State j is reachable from ¢ if p"(i,j) > 0 for some n. If states i and
j are mutually reachable, they communicate. When every state communicates with every other state, the chain is irreducible.



13.4 Definition: Invariant Distribution A probability distribution x on states is invariant if xP = x, which is the
eigenvector of P corresponding to the eigenvalue 1.

13.5 Definition: Martingales A martingale is a stochastic process {X; : t € T} such that F|X;| < oo,Vt € T
and E(X,, ,|X:,,..., Xy, ) = X;,. The expectation conditioned on past values is the present value. A submartingale has
E(Xy, | Xt,, ..., Xy, ) > X, , and a supermartingale has E(Xy, ., |X;,,..., X)) < Xy,

13.5.2 Martingale Convergence Theorem Let {X,} be a martingale. If lim,_, F|X,| = M < oo, then there is a
random variable X, with E|X| such that X,, = X, as n — oo almost surely. If X,, > 0 for all n or X,, <0 for all n, then
M < oo is satisfied and the martingale converges.

13.8 Definition: Stopping Times Given a discrete-time stochastic process X1, ..., X, ... a stopping time is an integer-
valued random variable N such that P(N < co) = 1. and the event (N = k) belongs to o(X7, ..., X),. which is the o-algebra
of events generated by X1,...,X,,.

13.9 Definition: Stopped martingale Z,, = min(N,n)- ldentity: Zp="Zn1+AN>n(Z0 — Zn_1).

13.9.2 Martingale Stopping Theorem EZ, = EZ; if any of the conditions hold:
e The stopped martingales Z,, are uniformly bounded.
e N is bounded.

e EN < oo and there is some M < oo such that for all n, E(Z,41 — Z,|Z,) < M.

Lp=1/2

. EXy =0,Var(X;) =1.
1p=—1/2 t ar(Xy)

14.1 Defintion: Rademacher Random Variable X; = {
14.3 Criterion for reachability in random walk For (¢, k) to be reachable, there must be non-negative integers p, m
where p is the number of plus ones and m is the number of minus ones such that:

p+m=t, p—m=k
t+k t—k
= — m = —
2 7 2
so both ¢t + k and ¢ — k must be even = ¢, k have the same parity.

14.3.3 Number of paths N, = (ﬁ) = (é) = (p';m) = (p;:”). Divide by 2° to get the probability. If starting from
2

2

a point (to, ko) that is not the origin, the number of paths to (t1,%1) i Niy —tg ks —ko-

14.3.6 Reflection Principle Let (¢1, k1) be reachable from (g, ko) and on the same side of the time axis. Then there
is a one-to-one correspondence between the set of paths from (to, ko) to (¢1, k1) that meet the time axis and the set of paths
from (to, —k‘o) to (thk’l).

14.3.7 Ballot Theorem If k£ > 0 there are exactly %Nmk paths from the origin to (n, k) satisfying s; > 0,t =1,...,n,

that is, paths that never return to zero. Hence the probability that the path does not return to zero is % = ’; jr’:

14.4.1 Probability of equalizing us,, = P(S2,, =0) = ]\;22’{20 = (2m) 221,,".

m

14.5 Main Lemma The following probabilities are equal:

P(Som =0) = ugm
P(S; #0,...,5, #0)
P(S1>0,...,Sm > 0)
P(S1 <0,...,S0m <0)
2P(Sy > 0, ..., Sam > 0)
2P(S1 <0, ..., Som < 0)



14.5.1 Definition: Types of paths Let Z; be the set of paths satisfying s; = 0. Let P; be the set of paths satisfying
s1>0,...,8 > 0. Let NV; be the set of paths satisfying s; > 0,...,s; > 0.

14.5.2/3 One-one correspondences There is a one-to-one correspondence between Ps,,, and Na,, 1. Nelson’s Lemma:
There is a one-to-one correspondence between Zs,, and Na,,. A path in Z,,, with minimum value —k corresponds to a path
in Na,, with terminal value 2k.

14.6.2 First Return to zero Let f; = fo5,, denote the probability of the first return to zero occurring at ¢t. fy = 0 by

oL 1 2m 1
definition. Then fa,, = ugm—o — Uoy = 5T ( i ) 52w -

14.8 Definition: Last Return Let L, be the epoch of the last visit to zero, up t o and including 2m. Let
aok,2m = P(Lam = 2k), the probability that the last return occurred at 2k after 2m epochs.

14.8.1 Arc-Sine Law for last returns asy 2, = UakUo(m—k) ~ %+ Hence for 0 < p < 1, P(Lay, < p2m) =
’ m/%(lfﬁ -

2 sin~" \/p. Note that cmom = 3.

™

14.9 Definition: Dual Walk Define the dual walk: S} =5, — S,—,t =1,...,n for a fixed n. Every event in S has a
dual event in S* that has the same probability. The dual walk can be seen as a rotation 180° around the origin, then sliding
the left corner to the origin.

14.10 Probability of First Visit P(first visit to k occurs at epoch n) =% (é) 2% provided n—k is not a negative integer.
2

n

14.11 Expected number of visits before equalization Let M} be the number of epochs for nonzero k which S,, = k
before the first return to zero. For all k, EM; = 1.

14.12 Sign changes A sign change occurs when S;_; and S;1; have opposite signs. Note that S; = 0 and ¢ must be
even. Theorem: P(there are exactly c sign changes before epoch t) = 2P(S; = 2¢ + 1).

14.14 Definition: Rademacher(p) random variable X; =

4p(1 —p).

1 babilit
{ ) PrObabiity b so EX, =2p—1,Var(Xy) =

—1, probability 1-p

14.15 Probability of reaching zero for asymmetric walk Let p be the probability of an uptick. Start at Sy = m.

{l,pﬁl/Z

Then the probability of reaching zero from m is z,, = 2{", where z; = ¢ ;_, > 172
> b=

15.3.1 Definition: Estimator An estimator is the function 7" : S — ©, a map from the sample space to the set of
possible parameter values.

16.1.1 Definition: Unbiasedness An estimator 7" : y — © is unbiased if for every § € ©, E,T(X) = [T(x)f(x,0)dx =
6.

16.1.2. Definition: Consistent Let T, be the estimator of 6 based on n replications. An estimator is consistent if
plim T, = 6. That is, V0 € ©,¢ > 0, Py(|T,, — 0] > €) — 0,n — oo. Strongly consistent if Py(T,, — ¢) = 1.

n—r oo

16.1.3. Definition: Efficient T is efficient if for § € ©, T has the minimum variance of any unbiased estimator.

16.3 Multivariable maximization f : R” — R is maximized at x interior to its domain if all the first order partial
derivatives vanish and the Hessian matrix (matrix of second order partials) is negative definite. That is, for all columns x of
H, z*Hx < 0.

l,z=1

16.4.1. Maximum likelihood estimator of Bernoulli trial L(p;z) = pz+(1—p)(1—x),2 = 0,1. p(z) = {0 0
7x =

16.4.2. Maximum likelihood estimator of Binomial L(p; k) = (})p*(1 — p)"~*. p(z) = £.

. - . .. _L(mom)?
16.4.3 Maximum likelihood estimators of i.i.d. normals L(u,0% z1,...,2,) = [[1-, %/Qfe 5 (555) AMLE =
- a s
n N n a2 N _ n i—7)? N
72121 2 o2 MLE = 721:1(51 2" But Eo?yrp = LHIUQ. Hence define s? = 721:;&1 ) 02N LE



16.5 MLE of composition The MLE of g(f) is g(fazg). But it may not be unbiased (Jensen’s inequality).

16.6 Sufficient statistic Let T = ¢(X,...,X,,) be a statistic with density fr(¢,0). If the likelihood function factors
as: L(O;x1,...,2n) = fr(W(zy,...,x,);60)b(x1,...,2,) so 6 enters the likelihood function only through the distribution

of T, then T is a sufficient statistic for §. It suffices to maximise fr(¢(z1,...,z,);0). For example, for iid normals,
L(p, 0%z, s%) = S [log(2m) +log(0?) + & (2=2s? — 2uz + 2% + p?)] so (z,s?) are sufficient for (1, 02). In other words,

no other statistic that can be calculated from the same sample provides any additional information about the value of the
parameter.

17.1 Definition: Mean Square Error Let T be an estimator of g(6). MSEr(0) = Ey [(T — g(0)?] = [ (T'(z) — 9(0))? f(x;0)dz.
If T is unbiased, M SEr(6) = Var(T).

17.1 Definition: Bias by = Ep(T) — g(). Then MSEr(0) = Varg(T) + (br(0))2.
17.2 Expectation of log-likelihood Eg% =0,L(0;z) = In L(6; x).

17.3 Cramer-Rao Lower Bound Let f be continuously differentiable and let the support of z not depend on 6. Let T be

an estimator of § with differentiable bias function b(#). Then Varg(T) is bounded below by: Vary(T) > L+ @) 5T
nEe[(a%logf(X;a)) ]

17.3.2 Theorem: Unbiased sufficient statistic achieves lower bound of variance Let the likelihood factor as
L(0; ) = b(x) fr(T(x);0) so T is a sufficient statistic. If fr(t;6) has the form e*@**0(®) and T is unbiased, then its variance
achieves the Cramer-Rao lower bound so T is the minimum variance unbiased estimator of 6.

17.4.1 When MLEs are consistent Multiple conditions; see notes.

17.6 Method of moments The kth sample moment is ZZ 173 and the kth distribution moment is [ z f a: 01,0, Hm)dx.
Solve for the set of parameters (91, ce ﬁm) that satisfy the ﬁrst m moments: [ 2" f(z; o,..., ém) — i =1 Tk=1,.

17.8 Confidence interval bounds (Normal, known SD) Define zo, = @' (1—a). Then P(—z4/2 < Z < z4/2) = 1—cv.
So the 1 — « confidence interval when o is known is: I = [ﬂ — Za/gﬁ, i+ 2a)2 ﬁ] ,P(p € I) =1 — . By the symmetry of
the normal distribution, the symmetric interval is the shortest such interval that satisfies P(u € I) =1 — .

17.10 Construction confidence intervals

1. Choose the shortest interval [a, b] containing MLE 6 that has Py([a,b]) = 1 — . This is when the density is largest.

2. Choose an interval such that P(6 < a) = P(0 >b) = &

18.2 Posterior density The posterior density ¢(6g|x) given the prior density ¢(6) with likelihood f(x;6) with observa-
tion x is given by Bayes law as: ¢(0g|z) = % o f(z;600)9(00).

[S]

18.3 Conjugate Prior A parametric family of distributions is conjugate to a likelihood function if the posterior belongs
to the family whenever the prior does.

18.3 Example: Beta Conjugate Prior Given the Binomial(n,p) likelihood function: L(p;k,n) = (Z)pk(l —p)" 7k if
the prior density is ¢(p) = Beta(s, f) = p*~1(1 — p)/~1, then the posterior density is ¢(p|k) o< Beta(s +k, f +n — k).

18.3 Example: Exponential Conjugate Prior Given the exponential()\) likelihood function L(\; T, n) oc A"e~*T the
conjugate prior ¢(\) = N0~ te Ao ny Ty > 0 is a Gamma(ng, Ty) and has posterior density ¢p(A|k, n) = Ao~ 1Hne=AMTo+T) —

Gamma(ng +n,To +T).

18.3 Example: Poisson Conjugate Prior Given the likelihood function L(u;k,n) o< uFe=™# the conjugate prior is

#(p) = pko—te=mor = Gamma(kg,no) and the posterior is ¢(u|k,n) oc pkotk=1 _“("0“'") = Gamma(ky + k,ng + n).
18.4 Definition: Loss function Function of the parameter and the estimate satisfying L(é, 0) >0 and L(6,0) = 0.

18.4 Definition: Risk Function [ L(0,0)¢(0|x)dh. A Bayesian estimate chooses § to minimize the risk.



18.4 Examples: Risk-minimizing function When L(6,0) = |6 — 6], the risk-minimising  is the median of f(0|z).
When L(6,60) = (§ — 0)2, the risk-minimizing 0 is the mean of f(6]x) : JOf(8,z)do.

19.4 Definition: Significant value for composite null hypothesis The size a is supyce {FPo(T € C)}, where C is
the critical region (in which we reject the null hypothesis in favour of the alternative hypothesis).

19.5 Definition: Type I error Hj is rejected when it is true. Always a.

19.5 Definition: Type II error Hj fails to be rejected when it is false. Power is 1 — P(Type II error|6).

19.5 Definition: Uniformly Most Powerful Test Let a test be characterized by (T, C), the test statistic and the
critical region. Let 87 c(6) be the probability of obtaining a type II error. If a test (I™*,C*) has the maximum value of

1 — BT, C(0) for all tests with the same significance level «, then it is called the uniformly most powerful test (UMP).

19.6 Definition: Likelihood ratio test Define f; to be the area of the PDF under the null hypothesis, and f; to be
the area of the PDF under the alternative hypothesis. Then define A = }C;Eg Choose a cutoff £ > 0, and reject the null
hypothesis if A > k.

19.7 Definition: Monotone Likelihood ratio property (MLRP) When © € R, the probability model satisfies
MLRP if there exists real-valued statistic T'(z) such that for all 6 < ¢’, £ (2:0) i non-decreasing in T'(x). Alternatively, write

* f(@;0)
; ;9/ /;9/
(6 <0.T() <T() = JEG < {5

19.9 Likelihood ratio test for composite hypothesis without MLRP Let éo be the MLE of 6 over O and 6, be
the MLE for 6 over ©,. Then: \(z) = %ﬁ;f:; is a test. This is the ratio of the maximum likelihoods at the MLE. Choose
critical value A* and reject the null hypothesis if 0 < A(z) < A*. The size of the test is P(A < A*|Hj is true) = o.

20.3 Definition: Chi-square distribution If X, ..., X,, are i.i.d N(u,02) RVs, then (1). X and S? are independent,
(2). X~ N (1,2, (3). B2 = B30 (X - %)~ x(n - 1),

20.4 Definition: F-distribution Let U ~ x2(n),V ~ x2(m) be independent. Then T ~ Fon.

20.5 Definition: Student t-distribution Let Z ~ N(0,1),U ~ x?(n) be independent. Then T}, = \/ZT ~ t(n).

20.6 Mean with estimated SD For a sample of n N(u,0?) random variables, 5/?/% ~Th_1

20.11 Difference of means with same variance Given X,...,X,,, and Yi,...,Y,, normal with same variance, we
JE n i—T 2 m
test for the null hypothesis ux = py using the test statistic: ¢ = s,,r% ~t(n+m—2) with s, = it (w Zﬂzé - y)

X-Y-— (bx —py)

s§+

20.12 Difference of means, unknown variance Define the test statistic W = ~ t(v) approximately.
Use TTest|datal, data2).

20.13 Paired Data Define X; —Y; = (ux — puy) + (€; — €}) as a new set of data points and test it using a t-test against
a mean of zero.

20.14 Confidence interval for standard deviation Define ng,n to be the quantile function for the chi-square distri-

(n—1)s> (n—1)s2
2

bution with n degrees of freedom. The 1 — « confidence interval for o2 is: ) =3
l—a/2,n—1 XQ/Z,nfl

20.15 Testing difference of variances Given n samples from N(px,0%) and m samples from N (u,, 0% ), construct

(m—1)s%
v
(n—l)S?{ ~ Fm_lvn_l'

2
X

o

2 2
20.16.1 Testing difference of variances alternative Test Hy = 0% = 0% two tailed: reject Hy if :TY < Foj2m—1,n—1s :TY >
X X

Fi_a/2,m—1,n—1- One tailed: replace a/2 with a.

21.2 Empirical CDF F, (z) = w for i.i.d. random variables X1,...X,,.... In terms of indicator functions,



21.2 Kolmogorov-Smirnov Test Null hypothesis: The CDF of the data Xi,...,X,, is Fy. Transform each X; us-
ing Y; = Fp(X;) so that the range is now [0,1]. If X, indeed follows Fj, then the transformed variables are drawn from
Uniform[0, 1]. Calculate the test statistic: K = supg<, <1 |Gn(y) — y| = sup, |F,.(z) — Fo(z)| where G, is the empirical CDF
of the Y; transformed random variables. Reject the null hypothesis if K is larger than the cut-off value.

21.5.1 Chi-Squared Test Consider the multinomial distribution with ¢ possible results, each of which having probability
p;i. Let X; be the number of occurrences of the ith result in n independent trials. Let p, be a t-dimensional column vector

of observed probabilities that sum to one. Let the null hypothesis be that the this is the true parameter setHy : p = pg.
(Xi—np;)*

Estimate s parameters that determine p using maximum likelihood. Then calculate the test statistic: D = 22:1 o

which has a chi-squared distribution with ¢ — 1 — s degrees of freedom. Ensure each np; > 5.

21.8 Testing independence Given pairs of observations (X;,Y;),i = 1,...,n. Bin the data into columns containing
the X values and rows containing the Y values. Calculate the relative frequency of each column and row (sum of counts in
that column or row divided by the total count). If X and Y are independent, the relative frequency of each cell should be
the row frequency multiplied by the column frequency. The number of degrees of freedom is the (number of rows -1) times
(number of columns -1).

21.10 Minimum chi-squared estimators If p depends on parameter vector 8, we can choose 6 to minimise the test
t X?
i=1p;(8)"

statistic, which is equivalent to minimizing >

22.3.1 Definition: Orthogonal Matrix An orthogonal matrix has its transpose as its inverse: A7 = A=, Orthogonal
matrices preserve norms ||Az|| = ||z|| and inner products: (Ax) - (Ay) = x - y. These are equivalent definitions of orthogonal
matrices.

22.3.4 Definition: Quadratic forms «" Az = 71" | 37" | a;jz2;. Identities:

(z+y) T Az +y) =2 Az + 22T Ay + yT Ay
V(aTAz) = ATa
V(2T Az) = 2Ax
A matrix is positive definite if 27 Az > 0 whenever 2 # 0 and is positive semidefinite if 7 Az > 0 whenever z # 0.

The rows and columns of an orthogonal matrix A are orthonormal.

22.4.2 Principal Axis Theorem Consider an n X n symmetric matrix A. Let C' be the matrix of orthonormal eigen-
vectors of A. Then C is orthogonal and A = C~'AC where A is the diagonal matrix with eigenvalues on the diagonal.

22.5.1 Orthogonal Complement Theorem Consider a linear subspace M. Any vector x can be written as a unique
sum of zps+x, wherezy; € M andxz; € M, . x); is the orthogonal projection of 2 onto M, and is the point on M closest to x.

22.5.3 Projection is linear (x + 2)y = xp + 20, (@) = @y

22.5.3 Projection Operator Let x1,...,x; be a basis for M who lives in n dimensional space, and let X be a n x k
matrix whose column are x;. Then the projection operator that maps y to yas is:

yu = Py = X(XTX)"1XxTy

22.6 Normal Parameters of Linear Combination Let X be a column vector of n random variables with column
vector of means p and variance-covariance matrix 3. Let Y = AX where A is an m X n matrix of constants. Then EY = Au
and Var(Y) = AXAT,

22.8.1 Defintion: Multivariate Normal A random vector X = (X,...,X,,) € R” has a multivariate normal distri-
bution if for every constant vector T € R”, the linear combination T? X = >, T;X; has a normal N(ur,c?) distribution.
By Corollary 22.8.3, if Xq,...,X, are independent normals, then the vector X has a multivariate normal distribution.
This holds in the other direction: By Proposition 22.8.5, every component of a multivariate normal distribution is a nor-
mal distribution. By Proposition 22.8.4, AX where A is a constant m X n matrix is an m-dimensional Normal random vector.

10



22.8.9 Multivariate Normal Density Let X = (X3,..., X,,) with a non-singular variance-covariance matrix X. The
density is:

1 \" 1 ! Ty
_ —E(x—p,) ST (x—p)
X) = e
/() <\/27r) det(X)

22.9.1 Multivariate Normal and Chi-Square Let X ~ N(0,I,). Then X7 AX ~ x2(k) iff A is symmetric, idempo-
T
tent and has rank k. If X ~ N(u,0?I,), then (%) A (ﬂ) ~ x2(k) iff A is symmetric, idempotent and has rank .

o

22.9.3 Testing independence with idempotent matrices Let X ~ N(0,0%I) and let A; and A, be symmetric
idempotent matrices that satisfy A; As = As Ay = 0. Then XTA;X and XTA5X are independent.

22.10.1 Theorem (A Covariance Menagerie) We have:

1. E(X,X;)=(EX;)(EX;)=p? fori# j (by independence).
2. E(X2) =o?+p’

3. B(X.T) = Yt B(X.X;) + E(X2) = E(X?) = 0® + ny?.

J#

4. E(X;X)=E(X;T/n) = (6%/n) + p2.

[Sa}

E(T) = np.
Var(T) = na?.
E(T?) = no? + n?p.

ol

E(X)=p.

9. Var(X)=o?/n.

10. B(X?) = (0*/n) + 2.

1. E(D)=0,i=1,...,n.

12. Var(D,) = E(D?) = (n — 1)o?/n

Var(D;) = E(X; — X)? =
E(X?) - 2EB(X:X) + E(X?) =

(* + 1) = 2((0*/m) + %) + ((%/m) + ) = (1- ) o

13. Covu(D;, D;) = E(D;D;) = —a*/n, fori # j.

E(D:D;) = E((x" - X)(X; _X):] = B(X;X;) - B(X:X)- E(X;X)+ E(X?)
12 — [(02/m) + 1] — [(02/n) + 7] + [(0%/m) + p?] = —0%/m.

14. Cov(D;,T) = E(D;T) =0.

E(D{T) = E((X: - (T/n))T) = E(X.T) — E(T*/n)
= (g% + np?) — (ne? +n?p?)/n=0.

15. Cov(D;, X) = E(D:X) = E(D:T)/n = 0.
23.1 Assumptions on Error E(¢|X) = 0, Var(¢|X) = Var(ee?|X) = 0%1,,x,,. Latter is homoskedacity.
23.2 Sum of Squared Residuals (SSR) SSR(b) = (y — Xb)T(y — Xb) = yTy — 2yT Xb + b7 XT Xb.

23.2 Normal Equation for OLS parameters Bors = (XTX)"1XTy.
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24.2 Statistics of the OLS estimator EBOLS =8 (unbiased),VarBOLs =o?(XTX) L

24.3.1 Gauss-Markov Theorem In the standard linear model, if X has rank K, then the OLS estimator Bo Ls is the
Best Linear Unbiased Estimate in that in among all the estimators b of § which are linear in y and which satisfy E(b) = g
for any possible value of 8, Var(b) = Var(Bors) + P where P is positive semi-definite.

24.3.2 Unbiased estimator of error variance Assume (¢) ~ N(0,02I). Then Sors ~ N(3,0%(XTX)"!). The

2
unbiased estimator of o2 is s = eie . Also, % ~ X?(N — K). Also, for any K-vector w of weights, note that
N—-K o

wT (Bors — B) ~ N(0,02wT (XT X)) and UL ;) M t(N — K). s is the residual standard error.

sy/wT(XTX)"Tw

-di i 1 i Bk;ﬁk ~ _ y A — T —-1
24.3.4 T-distribution of OLS estimators oo t(N — K). The standard error of fors = s1/(XTX),, .

Note that the kth OLS parameter is associated with the kth column of X.

24.6 Testing complicated Hypotheses Consider the null hypothesis Ho : a = A3 where A is a ¢ X K constant matrix
of constraints. The test statistic F = 5 (a — ABors)T[AXTX) " AT](a — APors) ~ F(q, N — K).

qs?

24.10 Coefficient of multiple correlation 1 — R? = %

24.10 Adjusted R-squared (1 — R?) = §=%(1 — R?), which penalises for too many regressors.

24.11 Confidence intervals for regression predictions Consider the prediction y, = :C*BOLS where z, is a cho-

sen value and the value of y, is desired. Then: z-fors—y. ~ t(N — K). Hence the confidence interval is: [y, —
s\/;c*(XTX)*lx*+1

ta/27N_Ks\/m*(XTX)*1z* + 1,9, + ta/g,N_Ks\/x*(XTX)*lx* +1].

25.3 ANOVA model Consider Y;; = pj +¢;5,1 =1,...,n;,% = 1,..., k where there are k different factor levels and n;
different observations for the jth factor level. Let n = nj 4 ...+ ni be the total number of observations. Nomenclature:

® y;; is the response of the i** observation at level j.

ﬂJ'
o T,= Z yi; is the response total at level j.

i=1

_ T,
s Y,; = is the sample mean at level j.
n
j

ko Ty i
o T.= Z Z yi; = ¥ Tu; is the sample overall total response.
j=li=1 i=1

1 & & 1, .
Z Z by =~ %" T.; is the sample overall average response.
. =

LJ Yao = —
L i=li=1

¢ The treatment sum of squares S5TR is defined to be

k
SSTR = 3" n(Y,; — ¥..)?

i=1

k
;.
e pu—3 'r_:l’uj is the overall average of the (unobserved) u;s.
j=1

k
E(SSTR) = (k= 1)0” + Y nj(p; — p)°
j=1

2= i (Vi = Yey)?

J ’I’Lj -1
k k nj
SSE = (nj—1)s = > > (yij — ¥ey)’
j=1 j=1i=1
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where SSE is the error sum of squares.
25.4.1 SSE and chi-squared Sf—QE ~ x2(n — k) and SSE and SSTR are stochastically independent.
25.4.1 Total sum of squares SSTOT:SSTR—FSSE:Z?Zl(nJ— —1)s7 = Z?zl S (Yij — Tee)?.

25.5 ANOVA testing equality of means Define the test statistic: F = % and reject the null hypothesis if

F > Flfoz,kfl,nfk-

Anova table format:

Source df =55 MS F P
SSTR | SSTR/(k—1)
k—1 SSE/(n — k)
SSE
n—Fk

Treatment | k-1 | SSTR F<Fy a0k

Error n-k S5E

Total n-1 | SSTOT

25.7 Testing contrast hypotheses Define the weighted linear combination C' = w”p. To test the hypothesis that

C = 0, weight the same means C' = Z§:1 w;¥e; and define SS¢ = o —. Then F = W%_—k) ~ F(1,n — k). Reject the
J

i=1n;

null hypothesis if F' > Fi_q 1,n—k-
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Final Review

Likelihoods Consider a distribution Fxzp(\) with n draws from it. Then the likelihood of obtaining some sample is (up to
some scaling factor):
o & 0,di:2; <0
L) =[] faiA) = [ Lesoe ™ = { st
i=1

n .
bl e A2im1%i else

The first product follows from independence. Note that if any of the z;s are negative, then it is not possible that it
came from the exponential distribution and hence the likelihood is zero.

MLE By definition éMLE is such that for all x:

max L(0;2) = L(OymrE; )

Checking unbiasedness E,[z] = po. Use linearity of expectation.
Likelihood ratio tests Let Hy : 6 = 0y, Hy : § = 6. Then define:
maxgeg, L(0, x)

AMx) =
(x) maxgeg, L(G,JZ)

1. a = Type I error = P(reject Hy|H is true)

2. Power = 1-P(type II error) = P(reject Hy|Hy is false). Note that for a simple hypothesis, where the null and
alternate hypotheses are single points, the power is just a number, not a function.

3. Type II error = 8 = P(accept Hy|Hy false)

UMP test A test is uniformly most powerful if for a given o € (0,1) it yields the best possible power 1 — /3.
Neyman-Pearson Lemma For simple hypotheses, the likelihood ratio test is UMP.

Theorem 19.8.1 Given composite hypotheses Hy < 6y, Hy : 6 > 69, if the likelihood ratio A(x) satisfies the maximum
likelihood ratio property (MLRP), then there exists a test that is UMP and this test is constructed explicitly using LR
tests.

Standard linear model Assumptions: the data comes from sampling:

Yi = bz + Bo + €

with unknown Sy, 31 € R and €y, ...,e, ~ N(0,0?) and independent with 02 unknown.

Testing assumptions Ensure that the data points are distributed linearly by eye power. Use Kolmogorov-Smirnov test to
check the normality of the errors (do not include the distribution type!).

Chi-squared test Choose your bins such that the expected number of counts in each bin is > 5.
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